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QUESTION 1

The customer is still not convinced about the advantages of using node VIPs. Which is the most important point that will
convince him about why VIPs are used in Oracle RAC 12cR1 environments? 

A. It is very convenient as whenever a node/interface/network related to the node VIP fails, the VIP can fail to another
node and the failed over VIP can start accepting connections from the new node avoiding connection failures 

B. This is needed as whenever a node/interface/network related to the node VIP fails, clients that attempt to connect to
the VIP address receive a rapid connection-refused error instead of waiting for TCP connect timeout messages. This
helps for a quicker failure detection and resolution 

C. It is needed as whenever the node/interface/network related to the VIP fails, nothing happens and node VIP never
fails to any other node and stays stable 

D. Configuring VIP is optional and not needed in an Oracle RAC 12cR1 configuration. 

Correct Answer: A 

 

QUESTION 2

ASM has multiple redundancy levels. Identify three of them: 

A. No mirror 

B. RAID 5 mirror with a 1 parity disk 

C. RAID 1 + 0 mirror 

D. RAID 1 + 1 triple mirror 

E. RAID 5 

Correct Answer: ABC 

 

QUESTION 3

Which statement about the AU_SIZE disk group attribute is incorrect? 

A. It specifies the size of the allocation unit for a disk group. 

B. It can be changed at any time for any disk group. 

C. You can view the value of this attribute in the ALLOCATION_UNIT_SIZE column of the V$ASM_DISKGROUP view 

D. The default size is 1 MB. 

Correct Answer: B 
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QUESTION 4

The DISK_REPAIR_TIME attribute has expired after a transient disk error. What happens next? 

A. Nothing, it was only a warning. All the disks are OK 

B. This means that the disk is repaired and is put back in the ASM disk group. 

C. Oracle ASM drops the disk. 

D. This means that Oracle will use ASM Fast Mirror Resync to sync the rest of the disks. 

Correct Answer: C 

 

QUESTION 5

Which statement about the server Flex ASM is incorrect? 

A. Flex ASM requires an ASM instance on each cluster node running an Oracle Database instance 

B. Flex ASM allows ASM clients to remotely connect to ASM over a network. 

C. With Flex ASM ,a small pool of ASM instances can be used to serve a larger pool of database servers. 

D. When an ASM instance fails, the database clients and ASM cluster file systems can reconnect another ASM
instance. 

Correct Answer: A 
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